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2. o2 3¥9 AttE]E ABCD & AD//BC, A0 : OC=1:30°]1
AABD = 20cm? & ©f, ADBC 9] Ylo]=?

A D

® 30cm? @ 45cm? ® 60cm?

@ 75cm? ® 90cm?



3. S %A H 0= AABC 9] €] o]t} /ABO = 30°, /OBC =
10°¢ o, LA 9] 27]E F-5tof=t

A




4. - I™A M 1+& AABC 9] WAioltt. A
x 9] do]& stoiz;, 15crﬁ’— \\12cm
/7 1| Y

/ \

~~gz--"D~9cm”

R
D

B o



ol

—_

0
B

ol
o
~,

ﬂo
Xjo
B

op

il

Gl

b

gl



6. T2 AtthEl& ABCD oA AD//BC, AO : OC =1 : 2 °]1
ADOC = 12cm? o]t} Atta]E ABCD 9] Hol&=?

@ 32cm? @ 48cm? ® 54cm?

@ 63cm? ® 72cm?



7. o2 199 ABC oA H O & 4loltt. LOCA = 34°, /OCB =
18° A uj, /OBA 9] 27]=?

@® 18° @ 34° ® 36° @ 38° ® 52°



AABC o4 AD & /A 9] o]5EA o]y &
A4 B, C oA AD B 11 A4 9o yd
A S ZAZHE, F et & off, BD : DC ¢
e

D 4:3 @ 2:3 @ 7:6
@ 2:1 ® 3:2
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10. t©h& 1304 Atte]E ABCD = AD//BC,A0: CO=1:2°]1
AtthE]E ABCD 9] Hol7t 27cm? & o, AABO 9] Ho|=?

A D

® 6cm? @ 7cm? @ 8cm?

@ 9cm? ® 10cm?



11. th& aABC 9] 94& O 2t & uf, x 9] 37]4=2
A

@ 10° @ 20° @ 30° @ 40° @ 50°



12.

the 24 AD /BECY 1, x, y 9

=7

@® x:&y:%
@ ng,y 8
® ng,y*G
@ x=%5,y28
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14. o2 193 o] AD//BC Sl AttE]& ABCD 9|4 OA : OC =1:2
ot} AAOD = 48cm? ¥ wj, DABCD <] Ho]=?

A D

@ 432cm? @ 480cm? @ 562cm?

@ 600cm? ® 642cm?



15. th2 139 AABCOlA H 0= 9Aloltt LOAB = 35°, /OBC =
25° A4 o, ,C9 A7]=?

oy
14
Q

25°

@ 40° @ 45° @ 50° @ 55° ® 60°



